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Question 1  
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Equation of the asymptote and asymptotic behaviour 1A 
Coordinates of axes intercepts (must be scaled correctly)  1A 
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Question 5 
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x42

12
−

=  for x 

184 =− x  

8
3

=x     1A 

Area = Area of the rectangle −  Area under the curve 

         = dx
x∫ 







−
−×

8
3

0
42

1
8
32   1H 

        ( ) 8
3

0

42log
4
1

4
3





 −+= xe   1H 

        







−






+= )2(log

2
1log

4
1

4
3

ee  1H 

        
4

4
1log3 





+

=
e

 

        
4

)4(log3 e−
=    1A 

OR 
Find the inverse function 

y
x

42
1
−

=    1M 

2
1

4
1
+−=

x
y  

∫ 





 +−

2

2
1 2

1
4
1 dx
x

   1A 

x
y

42
1
−

=  

y = 2 

x = 0 







 2 ,

8
3  



2012 MAV Mathematical Methods (CAS) Exam 1 - SOLUTIONS 

©The Mathematical Association of Victoria, 2012  Page 4 

 

2

2
124

)(log





 +−=
xxe   1H 

4
1

4
2
1log

1
4

)2(log
−









++−=
e

e  1H 

 

4
)4(log3 e−

=    1M 

 
Question 6 
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Intercepts and end points      1A 
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Question 11 
a.    ( )θsinaBC =   1A 
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